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RA - BE - SHAEH) - HRA - BAS ofl &t e DS
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=S 46,830
s 109,268
401 Al HIZ R 0HbI 312,1%6 0 312,196
= 156,008
= 46,830
Ea 109,268
300,940 0 300,940
AR
20,062,630 *15ha 300,940
= 150,470
= 45,142
Ea 105,328
9,089 0 9,089
LTEAE Zeld]
300,940,000 *3.02% 9,089
= 4,545
= 1,363
o 3,181
= 2,167 0 2,167
E] TEAE 20|
300,940,000 0.72% 2,167
= 1,083
=S 325
ia 759
M= 1,746,619 1,801,585 ABA4,966
= 873,310
S 261,948
i 611,361
4,000 4,000 0
= 2,000
== 58
Ea 1,402
4,000 4,000 0
SIS = =LHOHI
20,0003 x2H 100! 4,000
= 2,000
== 538
o 1,402
401 Al HIZ S 0HbI 1,742,619 1,691,249 51,370
= 871,310
= 261,350
o 609,959
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= 54,431
== 16,289
[Ea 38,143
OO0{&l LI+ 01(185ha)
1,609, 1892 *185ha 297,700
= 148,850
[ 44,655
Ea 104,195
OX=-XIOHRI|(665ha) 1,074,426
-8 XIZH01(465ha) 1,622, 7382 *465ha 754,574
= 377,287
== 113,186
= 264,101
- g =M (200ha) 1,599, 2602 x200ha 319,852
= 159,926
& 47,978
= 111,948
O4&H2 0l =011 (40na)
3,553, 100& *40ha 142,124
= 71,063
= 21,318
= 49,743
02 Zeltl 112,408 49,409 62,999
=ItR0| 22l (2ULSRH3R0] 2 400 At
&) 112,408
—2LIRIRIIANY Zelt]
112,408,000 * 14! 112,408
= 56,203
=S 16,859
s 39,346
03 Al 20HHI 7,098 5,889 1,209
=IRIIAMSE (2URIRI] 2 400 Atd)
7,098,000 7,098
= 3,550
== 1,065
o 2,483
S3=IH) 364,856 395,420 A40,564
= 179,266
== 52,675
o 122,915
101 e124d| 308,725 351,574 N42,849
= 186,201
= 45,755
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O IR EALE Q122 43,375
201 ¥ BELY
76,9603 x2H +281.8L! 43,375
= 22,150
S 6,366
ia 14,859
O=IHIIHEE 2FY 183,319
200 2 By
84,9603 7 H+308.2442 183,319
= 92,535
< 27,235
T 63,549
OAHBIOI200 A 2122 82,031
20 ¥ BEaY
76,9603 x4 & +266.4722 82,031
= 41,516
= 12,154
[ia 28,361
201 L= 46,131 43,846 2,285
= 23,065
= 6,920
s 16,146
01 AtR2te|bl 30,100 29,500 600
O4tEHI0I20 A MES=EE QI O|AE
50,0002 +85 2,000
= 1,000
= 300
s 700
O4tEHI0IQ0 A AtE=8E &2 Y
(HEFT 2| 58) 300,000& #3224 9,600
= 4,800
= 1,440
[ia 3,360
O 22N 3,500
-SciIt=E M 70,0003 *500H 3,500
= 1,750
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= 1,225
O=JH0| EHl =& 2 SXIHI(STHIHD]
2l 28) 500,000 »30CH 15,000
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= 1,35
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A= M SMAIE X2 10,000 10,000 0
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o 7,143
201 fer= 3| 10,000 10,000 0
== 2,857
o 7,143
01 At22t2l] 10,000 10,000 0
OBtAHHER HelM A Q1S =2
2,500,000 *40H 2= 10,000
= 2,857
= 7,143
Mg xd 269,976 281,513 11,537
= 108,696
== 36,288
= 124,992
401 Al HIZL 201 269,976 281,513 A11,637
= 108,696
[ 36,288
Ea 124,992
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OZHEZH(SHMLE S)
4,474,730 *56ha 250,585
= 100,889
== 33,681
[Ea 116,015
02 Zeltl 17,586 6,6%6 10,890
OAMBZH(SMMLY S) 228
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T 8,142
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MEE
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219,850
109,925
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87,940
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401 Al HIZL S 0HYI

HoH W

219,850
109,925
21,985
87,940

176,000

43,850

01 AIZHI
O0IMS XM=

02 Zeltl
O0IMSXIHZ =

03 A& S CHYI
OOINIAHXI M 2 =&

21,348,6502 *10ha

2eldl
213,487,000 +2.26%

LOHY|
213,487,000 +0.72%
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2,412

483
1,930
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154
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3,863
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42,581
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ODIMBIXINE & SU=H0I

HoH W
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81,360
16,272
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401 Al HIZL S 0HYI

MW
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16,272
65,088
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A67,800

2,567, 1802 +60ha
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MW
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14 0Bt 2a3 20,400 0 20,400
OFSA ST X2 (A7)
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o 8,160
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04 JIZtN2 2N S 2+ 136,736 136,736
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=sXEZEAM 2,807,122 4,709,246 A1,902,124
= 125,000
[ 150,000
= 983,500
o 1,548,622
LT H2C(SAZ FHI)(HEAY) 400,000 640,000 A240,000
=S 200,000
s 200,000
401 AIEHIZ SR THYI 400,000 640,000 240,000
== 200,000
[Ea 200,000
01 Al&H| 388,960 622,778 A233,818
OEdEl =2 (S42) ZHIAY
363,560, 00021 % 14! 363,560
= 181,780
2 181,780
OBBEX =2 (SHR) FHIAM AAIEHN
400,000, 000& *6.35% 25,400
s 12,700
s 12,700
02 2l 8,160 12,614 A4,454
OBBRX =2 (SM2) FHIAIY 228
400,000, 000& x2.04% 8,160
= 4,080
= 4,080
03 AIZSTHYI 2,880 4,608 A1,728
O=Z(S42) ZHIAY 20l
400,000,000&+0.72% 2,880
== 1,440
o 1,440
CAlE 24 2 22 205,366 137,163 68,203
201 er23| 22,126 8,568 13,558
01 At2tltl 12,430 1,020 11,410
O=ds=kael g2 s gt S20A
bl 8,000 324302 720
OlLieiz @23 2B 5% RXz2Y
100,000& »30& 3,000
OF33 283 &4 & T &A=l hz| 5,000
-F3 23 0SS Fg Ju
700,000 6 4,200
S S 2= A
80,0002 * 107K 800
OBABHAE N} 3,480
H40t 2 282 S HA
100,000& »308 3,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HAEZREAE AT T
80,000& x22|+3H 480
Oul=HI(S%24) 230
-Hgs 70,0002 x1H =23 140
-3t 70,0002 x1H =13 70
- 2,000&*18+108] 20
2 s5=34l 9,6% 7,548 2,148
Ox==&clE 248 U MAsd= 1,600
-SEEER(3E 58)
600,000 2CH 1,200
-SHMHRE=S 70,0002 <2CH 140
-SJIZ Al 70,0003 =2CH 140
-ASIHA 60,0002 ~2CH 120
oxtg 787 F¢ 8,09
3= 1,840& 2,200 £ *2CH 8,096
202 04l 3,240 3,240
01 2LHoIH 3,240 3,240
O=&=A g2 8 =LY
20,0002 x4 =30 2,400
O3¥=X #3s& 4 IUHBI(22)
70,0002 x4 H+3 840
206 M=l 10,000 6,000 4,000
01 MHZHI 10,000 6,000 4,000
OFAlE =&+ 22E Mz 7 10,000
-Hlg, &Hl S 8,000& 1,250 10,000
401 AlEHIZ S 0HbI 170,000 119,355 50,645
01 Al&H| 170,000 119,355 50,645
OZAl= 8XEE, NEHY S |A 22l
4,000,000 *30IH £ 120,000
Ogdgz TAg S =4 - 222 g9
50,000,000& » 14! 50,000
NXH SAlz= 28 (MEAY) 250,000 200,000 50,000
= 250,000
401 Al HIZ R 0HHI 250,000 200,000 50,000
== 250,000
01 Al&H| 248,200 198,560 49,640
Oogds A3 tEsd &4
99,280,000 99,280
=S 99,280
Ostul 2ADH0E deatd= &4
148,920,0002 148,920
= 148,920
03 Al 2 CHHI 1,800 1,440 360
Oogds A3 MeE3d d 20Ul
100,000, 0002 *0.72% 720




SN AT
ma: MR X

g NASH =g/ Y - AHE)
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< 720
Ostl 2XDH0E dgatd= 4 FU|
150,000,000 0.72% 1,080
[ 1,080
83 xd @ 2el 206,717 181,844 24,873
101 21AH| 64,647 41,037 23,610
04 JIZtNZ2Z2XNS 2 64,647 41,037 23,610
OsE=sX2elZ22 X 22| 64,647
=0 & H3=E 76,9603 x5 150! 57,720
“4lEEE S 57,720,000& *12% 6,927
201 eer23y| 28,950 11,889 17,061
01 AtR2t2|HI 16,690 4,750 11,940
OZAl=XZel 28 72
50,000& x102 500
OOsd xda&els (U=, I
S, I 5) 7Y
200,000 5H 1,000
O=asN2e22 A ANES
90,0003 5H*55 2,250
Oaxs8d fHIE S =Y S HH
50,0008 x25+10H 1,000
OSe=X2el g2 =& 224 A
8,000& 38 *30& 720
O=3 U fI85 dUIE &l &Xt 11,220
-=224{71(06w) 660,000 *5CH 3,300
-=24J[(03m") 660,000 *5CH 3,300
-2tn3del(5t) 770,000 *3CH 2,310
- AR 770,000 *3CH 2,310
2 s5=34l 12,260 7,139 5,121
Ostg2elsH S 32 2,580
Stg2elsH Yot Rke
70,0003 * 122 840
20082 &IIes
40,0002« 122 480
-Heldte CAISE & =X &H|IesS
90,0003 * 122 1,080
-Liesd dlieks 15,0003 x 122 180
OWl=Jl1, JIHE =& F& 3,480
-Fes 1,740 %2,000 £ 3,480
OJIAIE, GI=JIl, Il S =AH 2,500
-0I=21, JIHS ==el 130, 0002+ 10CH 1,300
~ZIOEX W01 =2l 400,0002*1CH 400
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OOel0I=0IAIE AL AEE I
400,000 *40H 2~ 1,600
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g NASH =g/ Y - AHE)
Rl SAZEAIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 100,000
s 100,000
01 Al&H| 198,560 148,920 49,640
Oz X4 198,560,000 * Tkm 198,560
= 99,280
o 99,280
03 AIESTHYI 1,440 1,080 360
OFEIIZHY ZH 2]
200,000,000 0.72% 1,440
== 720
[ 720
AEAMBAER0| 2E(EZSAXZAN (HEAIY) 23,000 22,226 774
= 11,500
= 11,500
101 @124H| 23,000 22,226 774
= 11,500
Ea 11,500
04 JIZtN22 XS 2+ 23,000 22,226 774
O=Z S TA 2IRY 23,000
=0 & g¥=E 22,500,000& 22,500
< 11,250
[Ea 11,250

300,000 300
150
150

M

200,000 200
100
100

MO

LR 28 2 (HEAY) 200,000 200,000 0
160,000
40,000

M H

401 AIZHIYL 20 200,000 200,000 0
160,000
40,000

UMY

01 AlIZHI 198,560 198,560 0
ous=d =249 198,560,000 * 104 2~ 198,560
158,848
39,712
03 A& CHYI 1,440 1,440 0
ouszsd 24 200,000,000 *0.72% 1,440
1,152
288
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Rl SAZEAIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S42 ZH| 66,800 55,624 1,176

201 er23 | 13,000 6,500 6,500
01 At2teltl 13,000 6,500 6,500
OS¢tz et M= 5002 +5,000& 2,500
Ogdgz 2l Sk etzhe 2X
300,000 *107H A 3,000
OSttz = A, otAL2t WX
1,500,000 #5042 7,500
401 Al HIZL 201 53,800 49,124 4,676
01 Al&H| 53,800 49,124 4,676
OS4tZ glEX A
6,900,000 *27H 2= 13,800
OS¢tz ZSHIIIALE
4,000,000 * 1094 2~ 40,000
=50 M OIS0U2 = USI(HEAY) 230,000 0 230,000
< 80,500
s 149,500
401 Al HIZL 01| 230,000 0 230,000
= 80,500
= 149,500
01 Al&H| 228,344 0 228,344
OIS #0= &4
228,344,000 * 100 £ 228,344
= 79,920
o 148,424
03 Al 20HHI 1,656 0 1,656
OEZJI=sn 0= £d R0
230,000,000 *0.72% 1,656
= 580
= 1,076
CAIESE x4 148,179 36,130 112,049
101 @12A4H| 34,479 32,830 1,649
04 JIZtNZ22 NS+ 34,479 32,830 1,649
OggaXZ 22| 21| 34,479
=0 & H3=+Y 76,9602 x2H *2002 30,784
-AIBIEEE 30,784,000 *12% 3,695
201 er23 | 5,700 2,000 3,700
01 At2teltl 5,700 0 5,700
OEAAAE (S)=FA REUR2OI
A2E HTSR) 1,250,000 24 +20H 2 2,500
Ozt el (+43) AR U2
1,200,0002 10K 2 1,200
OIS IHLUEFA EXZEHEIL
2,000,000& 10K 2 2,000
401 Al HIZ 2018 100,000 1,300 98,700
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2A:

B phe NS SR - ME)
Rl SAZEAIE (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
01 Al&HI 100,000 1,300 98,700
OZAMNASEHAS AF=X 0HE
50,000,000 #20H 2 100,000
405 AtatsE = 8,000 8,000
01 M ESFH SHI 8,000 8,000
O ASE &elg s=EuXI| 2
8,000,000& 104 8,000
SSH Y ZHAS(HEAY) 200,000 0 200,000
< 100,000
s 100,000
401 Al HIZL 2018 200,000 0 200,000
= 100,000
= 100,000
01 A=l 198,560 0 198,560
Ogttiglnsstn SsHdE =4
198,560,000 * 11 2 198,560
=S 99,280
s 99,280
03 A& S CHYI 1,440 0 1,440
Osttiel nSstn SSHEE 24 20l
200,000,000 *0.72% 1,440
= 720
= 720
sE= 300,000 400,000 100,000
[ 150,000
== 45,000
= 105,000
401 Al HIZ 2018 300,000 400,000 100,000
= 150,000
[ 45,000
T 105,000
01 Al&HI 291,660 397,120 105,460
ORE DoHt MBE DAY
272,400,000 » 100 A 272,400
= 136,200
< 40,860
[Ea 95,340
Od 2ot AHESY S2ArE AAIEH
300,000,000 *6.42% 19,260
= 9,630
[ 2,889
T 6.741
02 Zeltl 6,180 0 6,180
Od 2N MHESY 22 2289
300,000, 0002 *2.06% 6,180




SN AT
ma: MR X

2 Ut (sdol Lo/ - &E)
Rl SAZEAIE (SH9 H2)
SA - B SRIBH) - MRAR - BAS A HIDEZ
= 3,090
=S 927
s 2,163
03 Al 20HHI 2,160 2,880 AT20
OBE Do MNEYST B2 2]
300,000,000 *0.72% 2,160
s 1,080
== 324
[ 756
iz 24 & 22l 104,060 68,783 36,277
201 Zet2d] 9,810 3,830 5,980
01 AlR2telHl 7,200 2,200 5,000
Oz ¢ - 2elE A e
22,0002 x5 x105+23] 2,200
OJt= UhEl ==Xt Xt
500,000&*10CH 5,000
02 s3=gHl 2,610 1,630 980
OJt2= 228 JIAHEH |57 7
1,740 %1,500 4 2,610
206 M=l 11,750 15,500 A3,750
01 MZH| 11,750 15,500 A3,750
OJl2ZB HES 327 7Y
4,500&+1,500= 6,750
O~ soil X Mz 2
20,0002 x55+50H 5,000
401 AIEHIZL SO 82,500 49,453 33,047
01 Al&HI 82,500 27,453 55,047
OF T28 Itz &8F
6,250,000 *10km 62,500
OJiZ2+ Eolls aetd 2H =Y
500, 0002 *40km 20,000
SEE TAI=IHI AHA 250,000 0 250,000
= 125,000
= 25,000
o 100,000
401 AIZHIX S0 250,000 0 250,000
= 125,000
= 25,000
= 100,000
01 Al&H| 243,050 0 243,050
OSEETAIZIHIIAIY ALY
250,000,000 *4.43% 11,075
= 5,537
& 1,108
= 4,430
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SN MDA
A N2 RS (SRS - ME)
e N BTSN (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OSEE TAIEIITIIAY
231,975,000 =100 &~ 231,975
= 115,988
= 23,197
= R,790
02 2eldl 5,150 0 5,150
OSSETAZIITIIAL Z2lb|
250,000,000& *2.06% 5,150
= 2,575
= 515
= 2,060
03 Al =2 CHHI 1,800 0 1,800
OSEETAIZIIIIAIE AIEL20i]
250,000,000&+0.72% 1,800
= 900
& 180
= 720
A THOHEE R (SR L 4=AH/ e - AE) 3,160,845 3,285,899 A125,054
= 942,161
= 469,000
= 495,245
= 1,254,439
METE B35 2,158,157 2,552,756 A3H,599
= A2, 161
= 268,530
i 7,466
AFRITHOH L K2l SHOI(AS A 20L& SHH) 609,465 571,300 38,165
= 243,786
& 73,135
= 292,544
101 21244l 585,951 547,792 38,159
= 234,381
& 70,313
i 281,257
M IIHZ2Z2XSsE+ 585,951 547,792 38,159
OMEX 20 EISHTH(2121])
76,960 *30% 228.001 526,409
= 210,564
& 63,168
i 252,677
OMENZ2HLTSHHEERE)
3,69, 1662123 44,342
= 17,737
& 5,321
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2A:

Hu: al T (SR ALSA/UY - AE)
ool ARINE 25 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 268
AtETHOHE Rl EDI(AE SN S0 Z LA 48,698 45,610 3,088
= 24,349
= 4,870
Ea 19,479
101 @1A4H| 48,698 45,610 3,088
= 24,349
= 4,870
= 19,479
MU IIRINZZENSES 48,698 45,610 3,088
OARITIBHLTIR] EDI(MERI S E T
= 76,9602 x22+316. 38 48,698
= 24,349
= 4,870
= 19,479
e === 3,751 3,751 0
= 1,875
= 563
= 1,313
401 AlZHIZL S0 3,751 3,751 0
= 1,875
& 563
Ea 1,313
01 Al&HI 3,751 3,751 0
Odgzrs=3xs ALE 3,751,000& 3,751
= 1,875
== 563
o 1,313
25+ &4l 120,000 120,000 0
= 30,000
= 90,000
401 AIZHIZ SO 120,000 120,000 0
= 30,000
[Ea 90,000
01 AlZH| 119,142 119,142 0
OES4 3Hl MY 119, 142,0002 119,142
= 29,785
o 89,357
03 Al 20HHI 858 858 0
254 4l At 858,000 858
< 215
= 643
= EHl 39,540 30,500 9,040




SN MDA
M N2 TR (SR A/ - ME)
Rl MEAE 2S (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 7,700 5,000 2,700
M ORINZZE2NSES 7,700 5,000 2,700
Ok A= Uoi=3H| Y 7,700
-Jles 220,000 «1H*35& 7,700
201 fer= 3| 15,840 11,000 4,840
01 At 2|l 15,840 11,000 4,840
OLH= Lloi=d4l ZHI&Xt= 7,920
-3elle! gX= 660,000& * 122 7,920
O=8=8 ZU2 dHl 7,920
-defle! Sxz 660,000 * 122 7,920
206 MH=H| 2,000 500 1,500
01 M=4l 2,000 500 1,500
OgoisdmE =M 7L 2,000
-AE0IE +3HAl 25,0003 +80& 2,000
401 Al HIZL 2048 14,000 14,000
01 Al&H| 14,000 14,000
o2us Fdl(== 8)
2,000,000 7= 14,000
AbXl2tel 24,175 24,150 25
201 fer=3| 315 290 25
01 AtR2tc|HI 315 290 25
OMNIYR +8Z 98t TH PY
25,0003 *3H 75
OHTIYR 482 9ist S20HAY)
8,0002x2& » 15 240
202 04t 1,860 1,860
01 =LHOHI 1,860 1,860
OURLL =& =UHoIHI(242)
70,0003 x3E 6 1,260
OMXHF =&t =LH0L
20,0003 x28 15 600
401 Al HIZL 01| 22,000 22,000
01 Al&H| 22,000 22,000
OMXIEEAIAE(FLIS) BHIEY
22,000,000& x 14 22,000
ArETHOH Xl EDI(AHHHHSHE LM Zbl) 1,280 1,280 0
= 640
= 128
= 512
405 AtatE = 1,280 1,280 0
= 640
< 128
= 512
01 AL =S F = 1,280 1,280 0
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2A:

A=
M N2 TR (SR A/ - ME)
ool ARINE 25 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oatd o S0 Z SN 2l
1,280,000 *1CH 1,280
= 640
[ 128
T 512
ArETHGH Xt EOI(AFAIEHE 02 E) 29,940 28,250 1,690
= 11,976
[Ea 17,964
101 @124H| 24,928 23,291 1,637
= 9,97
o 14,957
04 JIZtN2 2N S 2 24,928 23,291 1,637
OLH S THAH L K2l S (AFALEHE B UL E) 24,928
-2 76,9603 x2H*161.95& 24,928
= 9,971
= 14,957
201 Ler23| 5,012 4,959 53
= 2,005
Ea 3,007
01 Al2z2lH| 4,000 4,000 0
OLAEIBIE OlEXIY YRR
800,000 *1CH+5 4,000
= 1,600
o 2,400
02 S5=24g4l 1,012 959 53
OKtAIE S S OIZAtE ==
1,840 x552| H #23]+58 1,012
= 405
o 607
AZAIE MR 693,756 1,193,750 A499,994
= 485,630
= 104,063
o 104,063
401 AIEHIX SO 693,756 1,193,750 N\499,994
= 485,630
& 104,063
= 104,063
01 Al&H| 674,932 1,165,076 AN490, 144
OHAFREHAIS 187,982,000 187,982
= 131,588
< 28,197
[Ea 28,197
OAr & AL 486,950,000 486,950
= 340,865
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2A:

A=
M MR TR (SR - ME
SR MEXNRE BES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 73,042
s 73,043
02 Zeltl 13,829 20,979 AT,150
OHASEHAIE el 4,379,000& 4,379
= 3,065
< 657
s 657
OArtd dlr x4 Zeldl 9,450,000& 9,450
= 6,615
< 1,418
= 1,417
03 Al 20HYI 4,99 7,695 A2,700
OAFEHALY A=
1,395,000 1,395
= ar7
= 209
= 209
OArgd AR Ed AIZ 20|
3,600,000 3,600
= 2,520
= 540
= 540
APZANY BOtEE M A 8,215 8,220 N5
= 5,751
= 1,232
= 1,232
401 Al HIZL 2018 8,215 8,220 VAN
= 5,751
== 1,232
= 1,232
01 Al&H| 8,215 8,220 VNS
OAtZAIE 228 S 5,500,000& 5,500
= 3,850
== 825
[Ea 825
OArgddad s 2,715,000& 2,715
= 1,901
== 407
o 407
AZAIE RXI2tel 7,000 7,000 0
= 4,900
== 1,050
o 1,050
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SN MDA
M MR TR (SR - ME
ool ARINE 25 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 7,000 7,000 0
= 4,900
== 1,050
[Ea 1,050
01 Al&HI 7,000 7,000 0
OArgieizte|(E4) 7,000,000 7,000
= 4,900
=S 1,050
s 1,050
A XICHR (XH2) 3,900 63,400 /59,500
= 1,560
=S 702
s 1,638
201 et 3| 3,900 3,900 0
= 1,560
= 702
Ea 1,638
02 S3=gHl 3,900 3,900 0
OLESHAEAAR(SXEZ)
130, 0002 «30CH * 10K 2= 3,900
= 1,560
= 702
Ea 1,638
AEEXICHE (H 4 45,940 45,031 909
= 18,376
= 8,269
[Ea 19,295
201 fer23y| 40,680 25,831 14,849
= 16,272
= 7,322
= 17,086
01 At2teltl 24,580 23,731 849
OttEdal S| 8,000& x41& 10 3,280
= 1,312
< 590
T 1,378
Ot =t &yl + 292,500 x40 11,700
= 4,680
[ 2,106
Ea 4,914
OLEAE R0 AFEHH (LX)
480,000 «2CH*10& 9,600
= 3,839
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2A:

X XH -
o=

T
>
0
o
%
02
+
z
00
1%
£
i

Sl (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 15,000
s 15,000
401 AlEHIZL S0 30,000 30,000 0
= 15,000
= 15,000
01 Al&H| 30,000 30,000 0
OS54 oIEp2| ABZEA
30,000,000 30,000
= 15,000
s 15,000
SPAFERTHER B AT 7,000 9,100 A2,100
= 3,500
= 3,500
401 AlEHIZL SO 7,000 9,100 22,100
= 3,500
= 3,500
01 Al&H| 7,000 9,100 2,100
OAEAER AN B ALl 7,000,000& 7,000
= 3,500
[Ea 3,500
A HHS LM (XA 5,000 0 5,000
206 M=l 5,000 5,000
01 M= HI 5,000 5,000
Ogais LM fHl 7
1,000,000 %52 5,000
0238 LEAUREY OYLISFA 57,060 0 57,060
= 17,118
o 30,942
401 AIEHIX SO 57,060 0 57,060
= 17,118
o 39,942
01 AlZ2H| 56,649 0 56,649
OREALLIRE HELIFFAL AL
56,649,000 56,649
< 16,820
[Ea 39,829
03 Al 20HHI 41 0 41
OFE2URE HHLRFAL A
411,000& 41
= 298
Ea 113
20238 AUSRMESE HZLIRSAL 28,530 0 28,530
= 23,601
= 1,479
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2A:

X XH -
o=

=
H

g9 de (Erel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

[Ea 3,450

401 AIEHIX 20 28,530 0 28,530
= 23,601
= 1,479
= 3,450

01 A&l 28,325 0 28,325

OTESY HLUIS FAt

28,325,000 28,325
= 23,431
= 1,463
= 3,431

03 AIZSTHYI 205 0 205
OMEEE HLIR A 205,000 205
= 170
= 16
= 19

AEBY Dl 25 1,002,688 733,143 269,545
[ 469,000
= 226,715
= 306,973

PEAIE(EX) 660,000 437,143 222,857
= 462,000
[ 39,600
T 158,400

401 AlEHIZL S0 660,000 437,143 222,857
s 462,000
== 39,600
o 158,400

01 Al&HI 642,774 426,023 216,751
@Fdral=ti= 642,774,000 642,774
s 449,942
= 38,567
o 154,265

02 2/l 12,474 8,052 4,422
Oz = Zaltl 12,474,000& 12,474
s 8,732
= 748
o 2,994

03 Al 20HHI 4,752 3,068 1,684
Oz = 4,752,000 4,752
= 3,326
= 285
o 1,141




SN MDA

M N2 TR (SR e AHE)

Rl MEFE e 2= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AL 77,188 40,500 36,688

101 @124H| 23,088 0 23,088
M ORNZZE2NSE S 23,088 0 23,088
oYs sxB 0%
76,9602 *32H*100 23,088
201 ger=3| 6,600 5,500 1,100
01 AtR2te|H] 6,600 5,500 1,100
Ogx Maltuiol =5+ HHleExz
660,000& *102] 6,600
401 Al HIZL 201 47,500 35,000 12,500
01 Al&HI 47,500 36,000 12,500
Ogkd ZSHIJl At 500,000& *70km 35,000
O ohfer 2= 2,500,000 *57H 2 12,500
LT AL (HEAY) 255,500 255,500 0
=S 186,515
s 68,985
101 ©1AH| 14,000 14,000 0
< 10,220
[Ea 3,780
M ORNZZ2NSE S 14,000 14,000 0
ogzzlg ol 14,000
-2 76,9603 x12+181.9& 14,000
= 10,220
[Ea 3,780
401 Al HIZ S OHYI 241,500 241,500 0
s 176,295
s 65,205
01 Al&HI 234,303 234,303 0
YT 130,210,000 130,210
[ 95,063
T 35,157
OogEexxe 80,093,000& 80,093
= 58,468
[Ea 21,625
OgE=s 24,000,000& 24,000
s 17,520
s 6,480
02 2l 5,458 5,458 0
O =AY Zaltl 5,458
-ZHY T Zeld 3,051,000& 3,051
= 2,227
Ea 824
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FA AESEL
M MEZE BHS(SsURT/B)
el SE2g € S2 (St &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
O+ & E=Xcl 20,000& * 152 300
OMEA KX 400
-2 3 2001 |sX2el
100, 000& *2CH 200
-HEA S0 72
200,000 *12 200
OLEE, EY S alg
135,000« 122 1,620
OU=HE AlE & 01§ 2EHH0l A2t 2,023
-2=2|HI(EH0IH &) 500,000 *2CH 1,000
- ZH| 1,740 +20H+265 £ 923
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01 Al&HI 397,140 794,240 A397,100
O=d Xt deis2 ZEAIH|
397,140,000 x14] 397,140
S 198,570
= 198,570
03 A2 2 0HYI 2,860 5,760 2,900
O g Xt dEis2 ZEAIY AIZR0I
397,140,000 %0.72% 2,860
=S 1,430
s 1,430
MERH 2SS (EF/XHS) 372,803 318,913 53,890
= 92,682

_42_




SN GEDRAD
M MEH 25 (8F/XH)
Sl dEfAuet 8= EX (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 10,000
s 270,121
NAXI2E) |2 2E X 362,803 318,913 33,890
= 92,682
= 260,121
247X 2 43,832 43,304 528
201 er2 3| 800 700 100
01 AtR2telHl 800 700 100
OM<E HAIS a2 25
400,000 22 800
206 M=l 19,176 18,188 988
01 MHZHI 19,176 18,188 988
oot dAI2 282 7Y 7,500
—orRHSER 9 45)
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15,0002 %3004+ 122 5,400
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20,0002« 1074 = 12& 2,400
401 Al HIZ S OHbI 23,856 23,8%
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5,496,000& 5,4%
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MAXI 28|12 22l 308,971 275,609 33,362
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s 216,289
201 et 3| 34,215 34,078 137
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Ea 23,950
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ONAXIEEI |2 MEsis e+
20,0002 x55+30H 3,000
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8,000& 27 12
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01 2LHoIH 2,100 3,150 1,080
OMARIQEE) |2 AR+ SUH0IHI (242
) 70,0003 x2ZH*32+53] 2,100
= 630
Ea 1,470
206 M=H| 52,500 20,175 32,325
= 16,750
o 36,750
01 XH2H 52,500 20,175 32,32
OFAIR FHE OlAlZ 19l
150,000 x505+32] 22,500
= 6,750
= 16,750
OO0FdAIZE HMSA M+
150,000 205102 30,000
= 9,000
s 21,000
301 2eEN= 4,350 2,400 1,950
= 1,305
s 3,045
14 JIEt2d=3 4,350 0 4,350
OD&I2D| Tl +4% 243
4,350,000 *124x13] 4,350
= 1,305
Ea 3,045
401 Al HIZ R 0HbI 215,806 215,806 0
= 64,732
o 151,074
01 Al&HI 214,263 214,263 0
OO0zt MAl HESA 8,000,000& 8,000
= 2,400
s 5,600
O0tdAlE HAI2E FAIZCIA
13,200,000 13,200
= 3,960
o 9,240
OMAXIZl B8 & S2AE (MRE 2 38)
16,000,000 16,000
= 4,800
s 11,200
OslF A= dEssd RA2ACIAIE
24,640,000& 24,640
= 7,392
o 17,248




SN AYBAD
M MEH 25 (8F/XH)
Chel: AAIKIQIEED| 2 2HX|2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZZST| OpAlZ SXIBEIAY
152,423,000 152,423
= 45,717
Ea 106,706
03 AIESTHYI 1,543 1,543 0
OOHAIZ FAIY SXI22 ALRL]
1,543,000 1,543
= 463
Ea 1,080
MEN A et M= EX 20,000 0 20,000
= 10,000
o 10,000
MEf A wet 4= €K 20,000 0 20,000
= 10,000
o 10,000
401 Al HIZ S 0HYI 20,000 0 20,000
s 10,000
s 10,000
01 Al&HI 20,000 0 20,000
OdEiAwet M= EX 20,000,000 20,000
[ 10,000
T 10,000
AH2LZH(LHS2D) (OIEHIIE 143,743 154,641 10,898
= 12,318
s 131,425
el 2E | 87,107 100,097 212,990
= 12,318
Ea 74,789
AESR L AP el 46,048 59,038 12,990
101 @124H| 46,048 59,038 212,990
01 &= 41,476 54,518 A13,042
OMHUESH FLI22= 41,476
-2UtA 62 99,0413 2 »60 11,885
-2ey 7g 89,4653 x2& *60e 10,736
-2BHA 8g 80,3203 x3& 60 14,458
-2Ety og 73,2802 18602 4,397
02 JIEtME = 4,572 4,520 52
OBZE Y22 49
76, 1843 x 1 »60! 4,572
AAXIE&I|2 2 22 41,059 41,059 0
= 12,318
s 28,741
101 eI24d| 41,059 41,059 0




N B
SF 2 A| (AT (IEHIIED
ol 2oy|
dET
SN - BE - SA(B) - NRAY - BES S
= 12,318
- 28,741
CRIEEEES 41,059 41,059
ONAXIQIRE) I ZEFIASERE
RS 41,059
=z 2,850,910 124 x122%100% 3,319
2 10,296
2 24,023
~AI2bl gt 9,7332 12 x10AI 2128 1,168
2 350
= 818
OiEay 100,00024%1Z* 122 1,200
= 360
2 840
~HHZAY| 130,00024+ 12+ 122 1,560
2 468
2 1,092
~o1o}2 ALY
2,859,9102! 1% 122+, 005% 689
2 207
= 482
X 3B Y| 145,000 2124 % 122467 . 5% 1,523
23 457
2 1,066
EEC 50,0002 %12 122 * 100% 600
= 180
- 420
=2l 56,636 54,544
PIEE 26,276 24,664
201 Lst2 | 22,076 20,464
1 Al 18,720 18,120
OBAN2Y Yu2g|
50,0002 x2224 * 122 13,200
oM, Bl A==
20,0024+ 18Z+ 122 4,320
OEH £ 72 100,000 1224 1,200
2zl 3,356 2,3
OSHRZ 3,356
I 4002 +80021 320
IS 2,53021%1,20021 3,036
203 R EZIY| 4,200 4,200
ENEETIEES T 4,200 4,200
OR A2 RETY) 350, 00021122 4,200
ENEE 30,360 29,880
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